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No. |  HE% FRTEH AEe | B | xE - (4 Sv/B%) (mSv/ &) R F2 (0870mSv/F) EDE
No. I N=E4 5cm 50cm im 5cm 50cm 1m 5cm 50cm im
~ 1 |EEHPR 0.07 0.07 0.07 0.35 0.38 0.35 | FFHLUT [FHLUT |FHLT
1| BEREM BE—TH1E265 1181|1000 | £
2 |BAO 0.08 0.07 0.07 0.40 0.37 037 | EHLTF |FHLUT [FHUT
~ 1 |EEHPR 0.05 0.06 0.06 0.26 0.29 0.29 | FHLUT [FHLUT |FHLT
2| FREREM F{EET5E31E 118118 940 | 2
2 |BAO 0.06 0.06 0.06 0.32 0.32 032 | EHLTF |FHLUT [FHUT
_ 1 |EEHPR 0.05 0.05 0.05 0.26 0.26 0.26 | FHLUT [FHLUT |FHLT
IEBRARE |EBAFE4hE40F S |11H128 | 16:00 | B
2 |BAO 0.07 0.07 0.06 0.36 0.36 032 | EHLTF |FHLUT [FHUT
1 |EREPR 0.05 0.05 0.05 0.24 0.27 0.25 | FHLUT [FHLUT |FHLT
A /NLUBREFF  [/MNUBE-TBH7E3E 118128 | 1050 | B
2 |BAO 0.06 0.06 0.06 0.32 0.32 032 | FFHLUT [FHLUT |FHLT
_ 1 |EREPR 0.05 0.05 0.05 0.26 0.27 0.25 | FFHLUT [FHLUT |FHLT
5|TEERR BT TEERFESHE] 165 Hh 11888 | 1430 | B
2 |BAO 0.06 0.06 0.05 0.29 0.29 0.26 | FFHLUT [FHLUT |FHLT
1 |EREPR 0.06 0.07 0.06 0.34 0.38 0.34 | FHLUT [FHLUT |FHLT
6[ILOREFR IWARTH2&1E 11A118]| 1430 | 2
2 |BAO 0.07 0.07 0.06 0.38 0.38 0.34 | FFHLUT [FHLUT |FHLT
_ _ 1 |BEEdR 0.06 0.06 0.06 0.31 0.33 0.32 | FFHUT |FFHLT | FHUT
11EREER ER-_TH8%HSE 118118 | 1030 | 2
2 |HAO 0.05 0.06 0.06 0.27 0.29 0.32 | FHUT [FHLUT |FHLUT
_ _ 1 |EERR 0.06 0.06 0.06 0.31 0.29 0.32 | LT |FHLUT |FHUT
8| RERT R -_THEE 118128 | 11:30 | B
2 |HAO 0.09 0.08 0.08 0.45 0.44 042 | FHUT [FHLUT |FEHLUT
_ 1 |EERR 0.07 0.07 0.07 0.38 0.39 037 | LT |FHLUT |FHUT
9|EFILR BT AL BE 3 B 1 K th2 11A11A| 1350 | £
2 |HAO 0.06 0.05 0.06 0.32 0.28 0.32 | FHUT [FHLUT |FEHLUT
_ 1 |EERR 0.06 0.05 0.05 0.29 0.28 0.28 | YL |FHLUT |FHUT
10|BEZHREF HE=F—THE1%6E [11A118| 1140 | B
2 |HAO 0.06 0.07 0.06 0.32 0.35 0.34 | FHUT [FHLUT |FHUT
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No.| iR AiEt MR | B | X e (1 Su/B8) (mSv/ %) EFFI 0870mSv/F) £OE
No. Al S 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm im
1 |EESR 0.05 0.05 0.05 0.27 0.26 0.26 | LT |FHLT |FEHLUT
1|FFEREA 2 E 1467 1 11888 | 1340 | B
2 |HAO 0.07 0.06 0.06 0.37 0.34 031 |'FFHLUT [FHLUT |FHLT
1 |EESR 0.06 0.06 0.07 0.29 0.33 0.35 | LT |FHLT |FEHLUT
122[/NEREFR INEIEE 201 B 32813 11888 | 1130 | £
2 |HADO 0.07 0.06 0.06 0.39 0.32 032 | FFHLUT [FHLUT |FHLT
1 |EESR 0.06 0.07 0.06 0.34 0.37 0.34 | LT |FHLT |FEHLUT
1B|ERFREE [[RE4B1E 11A1A| 930 | £
2 |HADO 0.07 0.07 0.06 0.36 0.38 033 | FFHLUT [FHLUT |FHLT
1 |EESR 0.05 0.06 0.06 0.27 0.32 031 | LT |FHLT |FEHLUT
1| EEREE FEARIES 11A11A| 900 | £
2 |BAO 0.06 0.06 0.06 0.33 0.31 031 |'FFHLUT [FHLUT |FEHLT
B = 1 |EREPR 0.05 0.05 0.05 0.26 0.26 0.25 | FHLUT [FHLUT |FHLT
15 37”5’25’?’\ ER=T BsE232 11AsE | 910 |
ToThAL 2 |HAm 0.05 0.05 0.05 027 0.26 025 | LT |FHLUT |FHUT
B LiE 1 |EREPR 0.07 0.06 0.06 0.36 0.33 031 | FFHLUT [FHLUT |FHLT
16 ﬂ‘:a N BET=T BH3%&265 118128 10:00 | B
=2al 2 |BAO 0.05 0.05 0.05 0.28 0.28 027 | FHLUT [FHLUT |FHLT
s — s 1 |EESR 0.07 0.07 0.06 0.35 0.35 032 | FEHLUT [FHLT [FHLUT
17|BECELE  popinamoos 118128 | 1200 | B
ZIT WS HEE 2 AR 0.08 0.07 0.08 0.40 0.38 0.40 | FHUT |TFHLUT |FHUT
= 1 |EESR 0.05 0.05 0.05 0.25 0.28 0.28 | FHUT |FHLUT [FHUT
18 Eﬂ@?%ﬁi LB-THES 11888 | 1010 | 2
ARE 2 |HAO 0.07 0.07 0.07 0.35 0.37 0.35 | TFHUT |FHUT |[FHUT
1 |EREFR 0.04 0.04 0.04 0.19 0.21 021 | FHUT |FHLUT [FFHAUT
19[BMEZXCELE |FRETEMEN14FM11 | 11H128 | 1445 | B
2 |BAO 0.08 0.08 0.07 0.40 0.41 0.39 | FHLUT [FHLUT |FEHLT
z=& 1 |EESR 0.06 0.07 0.06 0.31 0.36 0.32 | TFHUT |FHUT |FHUT
20 g’f’li&;}f%’ BRET2E 155 118128 | 1540 | 8
LAIXHE 2 |HAO 0.07 0.06 0.06 0.36 0.34 033 | TFHUT |FHUT |FHUT
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No. A AR EHh aea | B |xe e (e Sv/B¥) (mSv/4E) R (0.870mSv/4F) EDE
No. Al S 4 5cm 50cm 1m 5cm 50cm 1m 5cm 50cm im
1 |EEHPR 0.05 0.05 0.05 0.26 0.26 0.27 | FHLUT [FHLT |FHLT
2Q1/NEEHHE |EE—TH2E145 11888 | 1510 | B
2 |HAO 0.06 0.05 0.05 0.29 0.27 0.27 | FFHLUT [FHLUT |FHLT
. i 1 |EEHRR 0.07 0.07 0.07 0.38 0.37 0.36 | TFHLUT |TFHLUT [FHLUT
2|EERELE =EMT B 13405 118128 | 1520 | B
2 |HADO 0.06 0.06 0.06 0.32 0.32 032 | FFHLUT [FHLUT |FHLT
1 |EEHPR 0.07 0.07 0.06 0.35 0.37 033 | FHLUT [FHLT |FHLT
WB|EXRELE ERFE2EN1Fih 118128 | 1410 | B
2 |HADO 0.09 0.08 0.08 0.46 0.41 043 | FHLUT [FHLUT |FHLT

X1 1 EROEERIFCEISOVNTE, FTRFHRVEERICLYVELH L.

(FH&#H]
SRIELISFTIC1 B8R, TDEADKREREICT B 16KFES LD ERE
- RERBRFEICH T DRIIEIEHIN R E60% (2300.4) LR E

UEMOBERELXHITTI2EHDHER]
FRIEE (mSv/F) =R E (u Sv/FF) x (8AFf +0.4 x 168%H]) x 365H 1000
=;BIEE (1 Sv/BE) X 5.256
H1mSv (FY—A'ILR) =1000 ¢ Sv(R19BY—AILE)

X2 SERND D BARAMSHRICE D FRBIEEDHR FHBEIZ08TMSV/ETHS.
(FHBEHR:0.39mSv/F, KSR :049mSv/F, I LIV FDRARIE RV BMEIRE XD R ERIEERRL
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